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Al 5> 9 il o B JigaolS sawipoe S A, L wibwlxe Jilwe Goied Sl sy lablio
Aol ww bIs ) Giuss siope Olowlxo

U ouls Sl aob,y au 5k e0s,S wuse 16e5,38 csulbus uaile Ulgiss | 5iguu0lS Ulosls s> 5y as JIs
MATLAB : ou,w LIS | GiwlpaUles

3bw pudles Luwl Ol Slewbles 9 1,8 U | lowis s,y pudles 5158l o5 oul 88,20 @ sl 5>
53550 5,18 Obuse oot wylic 9 a>g5 5590 aS ol ol @

sl &S cowl awipo 9 ol BB aw, Gusixo 9 Ubgxuiils wp> Sed Ll39l o0 Sy MATLAB
2> lpusile Sy08 Jluwe J> wp> 53 1AV Jlw > 3,98kowl 9 95058090 0l8iwils 5 O (Slpi, K
S W s ... 9 uimio ,Swos ST Bliuls 5,8 L Wao 0j9,0l 9 ol 59>9) Ssae Il g (sdas
MATLAB U ... 9 piunww osawdipo ,Olnlio ,oshas su> a9,y wluol, sy (sowdipo ggiio sl
g s bl cowlpil Bluwe J=> @ 538 @S (sSuiST 9 (sibowlxe Sa buxo ool 5l (sSu Vlgisy
Sxae Skd aw, |, Juwshess wVsles o yile ccowl (sawiipo pole 5l Sl S o UL ,wluol,

Aiiwd MATLAB s 56 9 wluoly, )5 ai8)S IS5 ool ojlg) 51 L3S ¢ wloww,i ,wleMbl

owl awdipo 9 wwde Wlowlxo Sl S awugs aoly UL; 9 580 esuaw Sy weS| MATLAB

Jaggis MATLAB gilgi o WaS 5l eslaiwl U |, 0lisgs Lols Sla aolyy g giloi e85l 2lgi wswo Lo
Gy bl > S Lol acgozo 51 Ll by asbia 5 Sy polais| b awl sU;s il slass aSiiyeo 55 9
Sll; 5l 5 oslw 9 aid iy Hlows Wlazeiw U olwl wsouwwgi aoliy 0b; &G MATLAB Cabad> 3.3uS
Bob sl L oleMbl Us,S g Sl W8, buxe Sy L1l ey Gl wowl C L o JBLwl subai S yiguolS

S o o]y (SL1S slpld

wwo i wleMbl a4 5l wyg0o 5. ouilsy o i S5, s)lee @ lhad MATLAB ?b) Geawg Jud>
2S ae>lyo wowd Ha 53| Sla help @ awslys
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: MATLAB S o iy U wsvulawl
139 (S o s lino B3} JS_uJ dJLbD Sl O,y S w |).>,| |) MATLAB)Lg u-'-J9| x§|)._; as .,s\om

I)bSM\_S\AJOJJ)l)qu)DquLBO)ZUbQM|)@L0|LSL@O)4J)_9.>)LAJL)ULuJ|)J.\u|9Jg_5\Oq“JI

3,5 5L
New,Open,Cut,Copy,Past s au3S Joli wuiy @ aS. 20wl wsw MATLAB |l aue> oxids wlaw ()
Directory oaiS Laxaie current directory ,31 55 ¢ s)ls 1,8 JSLiw Help aoSs ol 5l as

uil s MATLAB S,l>
5 cswi> Sayll o loual, 5l | acgamo Sel> ,5lS ol .05 U Launch Pad ,slS T o,locis (¥

wwolwl LS Sle,o 5l plaS 8 Sy, 50 SUS U ouil (o (sco090 WHg.a (R WSV Web wlxso
)y Csawsiws Ulgi (s Ul e aiy;S a wlegogo

Auopgdy | Ol 5,8 b3S elLs S, (¥
Vg (0 25> o Gl 5> MATLAB gilgs 9 whigiws olo 3l (vo MATLAB (slol )18 buxo (£

doc j9iw> 59w wwo loudl, e waw 5L el help jeiws 59 o bl >>woMe Sol> wlhgiws
A o Jawles help o,z 5o | aulo aS wolas ¢ul L ads sw plul [ )8 uod
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a, command history o,z ;> looi 39,9 &l 9 Ulo; 3uS sw 5L |, MATLAB aol,y bewis aS L L, (0
%-- PM Y +/YV/+Y 1YV =% Wi 398 swo 03l Ulin juew 5,

S Dol Toameo | Lol ailgs cso Loss 000 0ps55 @lygiows ol Sgy 51 SWS U 3

workspace o >y

L osuldsusio plod puilgi oo 0riy ol 5> bl (s workspace o,y MATLAB Sl o)y 51 )Sus oS
LGl U g 05,8 sbul waibus il s wois 9 oS 018Lino ,ls o | ol 05,5 <y MATLAB s as
p.a.aS O.L&Lw.o )IJ_Q.OJ U)9)

5,8 U Edit Sgio b Sl Ulgi o ) 1 0,z ol plod wligixo

File Miew eb  Window  Help
0 Undo Chrl+Z

Select all

Find. ..

Clear Cammand Window

Clear Command Hiskary

Clear workspace
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>> Y+5-)
ans =

>> Y+AN/Y
ans =
vV

: MATLAB U 1S Gloiwo

18> wsw plul Glus Gualbe ey il @ | ol osbw Jlocl MATLAB

Oldoc @usio Sg) 9 05,5 0,05 o > > | sdlée aS cwl il wlowlxo plxil 50y ol,

>> a=Y
a=

Y
>> b=¢
b=

b3
>> c=)
c=

>> a+b-c
ans =

oty plil ) (silwlzo

aowl b S, 9 d=6S Wg,> a4 s MATLAB ()
Al iS58 T wilgs o LSl e jueio wwlwl (Y

(il sae 0l Jol 53S5S) 59 E9i B> b Wb lai> a0 swoluwl (7

(for Jio 59 wswo aiings wsul Sy @y wladS oul) .auils MATLAB (sl oai wa,ei wledS 5> (&
aS (380 5> &L ul.s,S eslaiwl iskeyword jgiws 5l Ulgio MATLAB SaudS wledS (sylwlos Sy

>> iskeyword(‘for")
ans =
\
>> iskeyword('keyword")
ans =
>> jskeyword(‘ans')
ans =
>> iskeyword('if")
ans =
\

ol wwolwl Ulgi s ulnly 350 o aiigs &=9S WBg,> L MATLAB saulS wl)le 9 whgiows ploi (0
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b @ jusin ol cawl 03,5 0,453 ans jueio 5> |, a+b-c Jols MATLAB 2,303 VU Jbo > aS b uled

>> D=a+b-c
D=
o)

Ao oS oslaiwl (1) w5 (1) LIS 51 WL s bas by 55 | seiws iz puslysy S
Sgaii o0y Gwles gul wsdg 3900 ol wlowlxo g0 s el

>> a=Y, b=<& ; c=);
a=
v

((Vlg5) ™ (ws2) * (pamsi) \b/ - +) Jgazo Sla,Slac 5l Olgi (so soly, 05Lw Jlacl plxl sl
5,8 oslaiwl

aS silyeiws 2lgi o (wip> Soads) Down g up Slaads 5l eslaiwl L wdg ,5 sug> a9,0 Sl
AaS o0 1 oo Ll Wad
Aol s bIs 1 393 5,lubiwl wylbg (Home ,End ,Page Up ... )oswinsl g SaadS lw ouizosd

106S w0035 393 55 | wsawls uslse &b ,d aS 5l 399 Sl 0519 SIdueio MATLAB >

aowl 8,55 5h05 s Wil 0,055 Sy |y Syuio 5,8 aS (Syuslao 0.5 Sl ans
(Y1) oy sac Hlaso pi

220 5l 38,50 Cuse e (iS>9S eps

Culpin woMe ulgie @ inf

(cowl NaN(a NaN S, ,Sloc ploi azss) Ssac jue lago nan | NaN

Mo qu MATLAB M) _)._le (VIR W2y WMo )l oslaiwl CLDL!)J éb [GAWY] )JLJJP tSI)J U9y )
S swod Gl | % 5l ae wylie MATLAB g 1l wsw % oMe 5l oy

d> sy, sl Gwlos bas ol s | ol wlgs aS il siVgb 538 Ol cowl Sow Ulo,d &y Wil (a8
35S b s b s 1) Hgiws aolsl g anwliS (.. . ) dass aww b 3,5 Ulgi (s JSiwo ol
S oslaiwl Ctrl + ¢ 5l anby Giusls,y wwdgi Sl

Format a Ulgi sw W Ul Guyiogo Sl .l w5 Gulos @ sélizo S w8 U slacl MATLAB >
a0, A ww gl jlinel 08, £ wds U 1) slacl 9 cowl (6,8 Liuwy wo,d aS 5,5 o,Lwl short

Jiwlos jlanel 08, ¥ s U ) slacl ooniw sl (woow 9 ,Vs) sS5U pssww ywlwl 0 aS Format bank
LD (S0

18l MATLAB L5 Olgs (s |, 1 Giugy ool pled 5,15 39229 (selizeo Lo (g, slacl 03,8 5,3 sl
00 Wb a; Us,S 5,8 fix

Culpiv wspio Wb @, ws,S 5,3 floor

Culpin wuio Byb @y U,S 5,8 cell

uzo 3AE iSudy Wb ay Us,S 5,3 round

51350 (o SIS Jeiws X (9,20 4 J>
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>> date
ans =
+0-Jul-Y++&

23S Ay |y djsio 5l Sslasi b pled Llgi swo Clear jgiws 5l oslaiwl b

>> clear a
>> a
?2?? Undefined function or variable 'a’.

>> D
b=
b3
>> clear
>>p
??? Undefined function or variable 'b'.

I, MATLAB (s,> 5,638 0l 55 59>90 9 )b 5,90 S S8 Olgi s delete jgiws 5l oslaiwl b uizxod
S o b S 5858 uls 53 39>90 Sla p-file plod Ly jgiws Jlis Ulgice a.5,S &b

>> delete *.p
S s Wl uasio Ol pU Giwslos We | susie 2l yusléo disp Hgiws

Ol 5l oy b g i8S gy Ul 5l 9 05, 0,33 oul 03l plzil 0,95 &y 55 aS | ildoc pudlgss Lo
PSS s oslaiwl Diary jgiws 5l 58 ul Sl oS oslaiwl

3 39>g0 wllbo ploi g 05,5 Joo wowlssl as,uds &b asle MATLAB « diary on giw> Sh=l U
g 1>l diary off aS wolid U 3. wsw 0,3 Juld &y ,> prompt MATLAB

>0, om s wyga) aS |, hbghs MATLAB a3 Enter 05,5 5)lg |, format compact ,giw> S|
ww L oaus Bis> W bghs aS wowl format loose |, jgiows (pul guSe.dS o Bi> |, s> w9

A8
pad> > Command window o=y > |, S i Sd 0sl> pwlsi sw format compact jgiw> aluwgy

L eiows &b Sleadl, o @ Ulgi s Doc g Help wlhgiows 5l osleiwl L ool zuog Wb as ,ob Ulesd

0,8 4 S Gvg, 9 oaui luwl &b b giws ol 3,8loc b 0lgi oo Busb il @ 58 g cows g
A 9 wswo bewl by wlygiws b U puiseed g0l | ol

b ol oSow o b ) alize uslie WSS Juwlosl p&id b )L whgiws Sh>l oK >
wwo M-file ;| oslaiwl ul g s)ls J> o, &b MATLAB JSiiwo ¢l J> Shuanil 0aisS amws wljgiws
ool

L, b ol aS ul silod Ol US,S 5L L g 05,5 o,usd LB ey 5 | wlhgiws Asilgi o M-file 5l oslaiwl
DS bl aweal 05,8 ol uloyd s s

S oslaiwl New M-file aiy;S 5l algi s M-file &by sl=il (sl

wlgi (s aS suld help-file iz 58 53155 9 puslss0 w0 SIS 9 000 3lo0 iussel @ hasd 1> ol ) Lo
3,8 padles 09,20 1l duae dlho JuoSs s
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>>help format
>>doc help
>>doc doc
>>help clear
>>help diary
>>help save
>>help load
>>help date
>>help ops
>>help fix
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9> ),J_bLb'.o pLoJ uub uv9) (I \_S\Jl.)uJI 9 (I O.SLwJ.Jg_w LS\0 blz;| -,_s\gwa a MATLAB > L&Cl;_ |)
b osw []

>> a=[1,2,3,4]
a=
1 2 3 4

2Jgi Shy seiws dix MATLAB. cewl 58 wdg lownw YU G, 5l oslaiwl 138,50 S aulyl aJsi sl Lol
s b ayl)l

linspace(a,b,c)
15,5 s | [a,0] 03U L5 (Soluwo Sl alold L adass ¢ jgiws ¢l

logspace(a,b,c)
15,3 (s 5210%,10° 05 5> s, 8 Juolgd U abnisi € 5 95w ol

a:b:c
sy CQUgl>9u UbUb oS eg,bajl 5,5 Vlu wygo ol @ Olgi s | Heiws Gl (8IS popan
Al o wlgi s 305 oL QASP/)K asS b Jug,y ol

35S Adgi (segiio S Gyl Llgi wsw ol &ilsi 9 g8 whigiws Sl eslaiwl b

>> x=0:.5:2*pi;
>> y=sin(x)
y:
Columns 1 through 10
0 0.4794 0.8415 0.9975 0.9093 0.5985 0.1411 -0.3508 -0.7568 -0.9775
Columns 11 through 13
-0.9589 -0.7055 -0.2794

>> z=tanh(x)
7z =
Columns 1 through 10
0 0.4621 0.7616 0.9051 0.9640 0.9866 0.9951 0.9982 0.9993 0.9998
Columns 11 through 13
0.9999 1.0000 1.0000

5 wugiow S B all Olgi s aSL g (sl d9ax0 Sylaw S wlyl 4 L MATLAB L5 b al)l
oslaiwl () Iuoaw 5l puls | aa> Jlaw adgi 1ad aS pwlepga; MATLAB @ aSil sShy 5,8 8,20

>> b=[1;3;5;7]
b=

g w R

7
>> b=linspace(1,7,4)'
b=

~N oW

ramin.samad@yahoo.com


WWW.IRANMEET.COM
https://telegram.me/karnil
www.karnil.com

all @, b Ll el (7)) oslpily sSlac 5 oslatuwll 15,8 oxalie Vb Jlio s aS b vlos
) i £35S A (sigiw

wa) b aull ayl)s uogw b(3) Jle Ulgic ay.5g.5 (s oslasiwl Ul Gl 5l W aly> a4 Csawyiws Sl
._Ulb)g S\0)) |) (5

oy Lol @y b 95 51 oslaienl b 0lgi wo auiS Ol |, alyl ol 5l aols Sla alys pudleis S|
5,5 oslaiwl end 5l yaic Gl 4 Csowsiws Sy Ulgi o disls pasie bl Jab 31 owil aisils

>> z(end:-3:4)
ans =
1.0000 0.9998 0.9951 0.9051

piS 03lastul Olosgs Hhai 3,90 i b ,Sus bl el yslao a aubl ey 5l eslaiwl b Olgi o uizzod

>>¢=[1,5,3,5,1];
>> z(c)
ans =
0 0.9640 0.7616 0.9640 0

29555 solex1,9 1) Jgl 9 pmeinipgwpmeiuJgl Jolic © CI,g|JT)'| oslaiwl b 1,8 oadliw aS j9b vlos

€ sac &l 58 31wl Cuie puxo sac &y Gl @S cowl Gul 3,8 asgi Ol 4 LL aS Koy @SS
15,3 (s Uas pley &y MATLAB 1S 3,lg Guwil Olgic @ | (stio b 9 pu=o

>> p(3.4)
??? Subscript indices must either be real positive integers or logicals.

>> b(-4)
??? Subscript indices must either be real positive integers or logicals.

@ (wusiow Sl) [a;h] o(Srbw Bl) [a,0] whisiws 5l osleiwl L Vlgi so |, b g @ yo9,20 bl 95
Sybw Bl s andliccils sa=io S Vgiw 9 WHkhw b wuld ] s ol g 5,5 Bl 5,18,
)l sl Olgi o Guizod. il by LU bl 95 e wsiw slagi uigiw B s 9 Wyhw slass

Sl Gawlsdl olgzds j9b @ | s3I S

>>a=[12 3];
>> b=[4 5 6];
>> c=[7 8 9];
>> d=[a b],f=[a;b;c]
d=

1 2 3 4 5 6
f=

1 2 3

4 5 6

7 8 9
bl sasie S Ugiw 9 Bybw Shls aulgy e MATLAB 5 W aul,l S jisd asgio wwiy oul @
Wd aS ,9b Uled.5,S adgi | b all ol Ulgi (o Wes> aS Bly Giuw Jlgw Gul ol $Sow J>
ww oslaiwl (8) Jaoow 5l B Lhw Shy g () LIS L alold 5l W Ugiw 920 Sy Adges ada>Mo
Q9 wd, d bax a Enter 2dS 05 U Jgl Jlaw (9,20 5l s aS cowl ol Slaw skl S350 ol)50b

RVS SV CIRN "SR JEN

>> A=[12 3;6 5 4]
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1 2 3

6 5 4
>> B=[10 11 12
13 14 15]
B =

10 11 12

13 14 15

135S a>gi b USH iz @ 5590 o0l 5>

g wsw 03l Liwlos wullas plewy Wi ol sue 5> b ol 0L Jlbw 58 )5 b ugiw slass

Salad MATLAB (susy. s ppo MATLAB Sl 39, wsw LS @ slacl us,S 1> Sy aS (slolgd slas
S (s Wi g oy e | (sdlol (Il

1D @)l Soae Ulbawlw

oadlie 55 S Jlo 5 |, Ll 5l Sslasisyls  al,l S, 1 Jlacl Sl silghd sla,Sloc MATLAB

>> A
A=

1 2 3
6 5 4
>> A-2
ans =

-1 0 1
4 3 2
>> A*2 +B
ans =

12 15 18
25 24 23
>>A+B
ans =

11 13 15
19 19 19

5l 55 s el A-2.0uds plsl b @bl Sy, Olgi oo | (ol 03t Jlocl s YU s aS eb wlos

wwo 20> |, all 95yl @ b Se ail,s A+B Hgiwd Guizad.dgub oS 3>lg 95 A ayll sla ayl,s plov
S

0l gy JB sSsbw @ 50 B pasile Vlgi 9 o

>> A
A=
1 2 3
6 5 4
>> C=[1 2;3 4];
>> C*A
ans =
13 12 11
27 26 25
>> CN2
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ans =
7 10
15 22
53 sab b | pasile b @il 95 S aulys b pwilss N Olgi @ ) W als el el pudlgzy ,S1 J>
135S a>gi 505 S Jlie @ euds 519 alasi &y )Slec ol 51 8 b oS pnii b oy o

>> A*B

ans =
10 22 36
78 70 60

>> B.NA

ans =
121 1728

10
4826809 537824 50625

>> C. N2

ans =
1 4
9 16
)lubuwl S qu)i

>> ones(2,3)
ans =

1 1 1
1 1 1
S s sl el Se aylys L nxm - csauyilo ones(n,m)

>> zeros(2,4)

ans =
0O 0 0 ©O
0O 0 0 ©O
S s skl oo S al,s L nxm cseuwyyilo zeros(n,m)
>> eye(3,4)
ans =
1 0 0 O

0O 1 0 O

0O 0 1 o0
ol (o 3929 A (silad il 2l 39, 1S @ eye(n) wigo

>> rand(2,3)
ans =
0.9501 0.6068 0.8913
0.2311 0.4860 0.7621
S s sl ey 9 500 Gur S8lail Sl Al b pusile i od seiws ol

>> randperm(8)

ans =
2 4 1 5 8 6 3 7
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>> randperm(10)
ans =
10 7 1 8 2 5 9 6 4 3
A ww b8 SHbaw sy by 8lail wygo |, n U1 slael jgiws ol

>> magic(3)
ans =
8 1 6
3 5 7
4 9 2

Gl Gl Gasile il (55509.355 0 Agi ] Borme 93l pupile 4 aS csansile sgiws il
owl by pd U ,led 9 ugiw Llaw 8 Sla ayl)> ggoxo

95 Shls wilgy wswo Jgl whgiws bolaiyls S3959 &y lpis 3T jgiws 95 aS cwl o3V S ol @ asgi
Y WV

1D awilo o5l

Syel wows au | Ul yolie JS slassi g Ugiwlaw

>>a=[123
123]

a=

1 2 3

1 2 3

>> size(a)
ans =
2 3
53.3615,8 s | uyile (Ugiw 9 4w slass) 031l Cowl pasiw Ol puwl 5l aS Hgb Uled Hgiws (pl
3, 0,55 yusio b 53 b (52955 58 Ulgi (s 25,05 i b a9y 2 aS 999 giws iile (silygiws
puS s Joc 505 wogo @S Gl sl

>> [s t]= size (a)
s =

2
t=

3

>> |ength(a)
ans =
3
.b|>)§ LS\ |) U_g.'i_wg)b_w u.u)|.).o.o L)J).S))J PLYSWAY qu

>> numel(a)
ans =
6
15,5 s | payile (number of elements) olic slasi pod 9w ol
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Z-M)ST Cowd @ ) LPT&SM L.!BM).‘)T Cowd 4 1) gayile ey ol 1bd jolic pudles s IS (2,9
5,8 _LQ|9.> oS bo D ) HGiawd

>> diag(a)
ans =

1

2

>> trace(a)
ans =
3

pl N Lhkd g, 8 a diag(a,n) wyso a LS| Jlo Ulgic au.s)ls 50 S,50 Slas,u,lS diag jeiws ail
Aol s b o wlgi wswo NLAdS wsw | a payilo

Ol (slol 5hd as aS (s Sl csuilo 1wl Slsy & a9 59, LS @ diag(a) wise @ aS (sigo >
owl 00 UT).oL\.C »lw g a)ls,y

>>c=[123];
>> diag (c)
ans =
1 0 O
0 2 0
0O 0 3

>> minfo(ans)
3 rows 3 cols: regular MATLAB matrix

15,3 w0y 1 5 3590 Guyilo 3,00 55 wileMbl pd ,3 giws

1D awyilo Hd i Sl

B uyile S @b )5 Husi skl Sl | ol S ol al)l giac 18 4 Gl &y polais! L MATLAB
358l (50 399

>>c =ans
c=

1 0 O

0 2 0

0 0 3
>>¢(3,3) =8
c=

1 0 O

0 2 0

0O 0O 8
>> ¢(9)=4
c=

1 0 O

0 2 0

0 0 4
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a aly 5 Gl wygo Gul s aS UlegSl &by 5l eslaiwl S ol,. LS o pakwiw | Ugiw 9 lw as
13940 o oms (S paile) b wigo

S=
1 4 7
2 5 8
3 6 9
>> c(4)=5
c=
1 5 0
0 2 O
0 0 4
>>c(;,1)=7
c=
7 5 0
7 2 0
7 0 4

3 518 7 Sl | Jgl ugiw 5> Wdydaw plod aS ol Gl Hgiows ol popan

>> ¢([1 end],[1 end])=8

c=
8 5 8
7 2 0
8 0 8
8 Soluwo |, 31 9 Jsl S wgiw ;3T 9 sl b 5> (sisy A4S (so Jae YU gicws Jio 5w giows ol
LD ;suyﬂﬁ
>>c(1,))=[1
c=
7 2 0
8 0 8

S o B3> |y slaw ol wogs bl b sl slaw wsls 51,3 Ssluwo U od sgiaws ol

oleyl Olgi s aSL 5948 (i 3930 Ul yolic i @ Lpis 5,5 skl Olgi s W Guyilo 5> aS (il
Sy s ) b auls Sl 9wy

>>a=[123;456;789];

>> flipud(a)
ans =
7 8 9
4 5 6
1 2 3
wo o9 by shw 4 cuw ) bibw S simr L s oo ol 4 YU ST DL pugsile seiws ol
S
>> b=fliplr(a)
b=
3 2 1
6 5 4
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_\..S._MLJ.QSLEUQAM‘SBJQSUSLQJUJbw|dgs)9wbmtnpﬂ)9uu>u4|

>> rot90(b)

ans =
1 4 7
2 5 8
3 6 9

@ seiwd ol S adlails > o wclw Sl agic WS> BMS > a>)s 90 |, guuyile Leiws ol
S sw pasiw | gus > slass nosg, S @ rot90(a,n) w,e.0

>> triu(ans)

ans =
1 4 7
0 5 8
0 0 9

>> tril(ans)

ans =
1 0 O
0 5 0
0O 0 9

S (sw Idgi (sidio Gl 9 YU S uuyile pd Hgiws 95 ol

>> c=horzcat(ans,b)

c=
1 0 0 3 2 1
0O 5 0 6 5 4
O 0 9 9 8 7

>> c=vertcat(ans,b)
c=

(el N NeNel
0 U1 NO 01O
~Nh~h PP OOO

A5 s ol 1) wugiow 9 Sl Bl pd jgiws 95 ol

>> reshape(c,2,9)
ans =
1 0 6 0 O 5 0 9 4
o 3 9 5 2 8 0 1 7
aodl sl Wb @il pwS oslaiwl seiws Gl 5l pwilyi (o pud b s b punsile ol slail pusles S
Al b pd b swsi sl a9 S o

>> repmat(ans(:,1),2,4)

ans =
1 1 1 1
0O 0 0 O
1 1 1 1
0O 0 0 O
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Wys0 ol 4 Hgiws SSI Jlie Vlgic @30S (s Adei i skl b csaunyilo paile el HLSG b jgsiws ol
S ww L,LSI L mxn g @is,S i s ol &y Ulgic a4 | a ugyile MATLAB repmat(a,m,n) aab

N 9 guilo 95 b g a jews ol Ho.cwl cat(n,a,b),giws MATLAB qu)J)lS wlhgiws 5l 50 Sy
g0 pgaw Jlo. b, ww |, Jb 5,90 pepen gy 15 S Jlin. ool e Bl wp> oS oz
AS w8 B puyile ol Yinles 69 a0l s Sasy 3 S paile 5l Sl

>> d=cat(1,a,b)
d=

OO WwWNI~PR
0 U1 N0 01N
NP P OO W

>> d=cat(2,a,b)

d=
1 2 3 3 2 1
4 5 6 6 5 4
7 8 9 9 8 7

>> d=cat(3,a,b)

o
)
)
N—r

~N bR
w

Q.
~
»

N
—
oo NI ool
NG

O o w:"

>> a=[12;3 4];

>> p=[2 3];

>> kron(a,b)

ans =
2 3 4 6
6 9 8 12

>> kron(b,a)
ans =
2 4 3 6
6 8 9 12

sl Gules 50 whgo ol @ Ulgi o | sul Jlio
>> [ b(1)*a, b(2)*a ]
ans =

2 4 3 6
6 8 9 12

ramin.samad@yahoo.com


WWW.IRANMEET.COM
https://telegram.me/karnil
www.karnil.com

1B al)l Us,S o

U guilo &y ool 55 55000l o W aulyl Us,S Cise Sy (S)giws 59>9 MATLAB subo WUl 5l Sy
b slw 0aiiS axite N asS sort(a,n) eiws 5l oslaiwl b g 9 oS s 2ugi 20 9 0 (s Sla ayl,>

>> a=fix(20*rand(3,4))
a=
8 8 7 2
18 17 16 4
18 1 0 3

>> sort(a,l)
ans =
8 1 0 2
18 8 7 3
18 17 16 4

>> [sor,pos]=sort(a,2)

sor =
2 7 8 8
4 16 17 18
0O 1 3 18
pos =
4 3 1 2
4 3 2 1
3 2 4 1

o pudsile 95 ol pudlszs (s>9,> 95 MATLAB I aS (55,00 55 AuS (s 0dlie aS b Ulas
b oad o S @yl @ byise gl p9> pailo 9 00 Cire puyile Vled Jsl puyile £ails,S
Aol v Uand Wi sl Jud aulys Ul eauas wlin L5 w,lie @.ads v Jiwlos

.\Ji wwo Y s 2 sguin paziw 5l lwgi N aS o900 > wlhigiows CU9§ ol
A0S (0,18 (s 390 1 Vgitw 1l (sugiw s b b Saws 2 uyibe aS (sisge s (1
g 50 sy kw1l SHbw sl db punsile aS (Nisge 53 (2

1D @yl ) gz
QU 55, 5l 3929 .. g Lol Lwolic US,S by B all )y gxws Sy ol wlhgiws MATLAB >
S oo oLl ol 5l e

>>a=[010;203;134];
>> nnz(a)
ans =

6

>> find(a)
ans =

O WN
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8
9

>> nonzeros(a)
ans =

WWkEREDN

4
515,500 jue S alys 395 pgaw Hgiws 9 B s ol @ bgse Guyal

>> all(a)
ans =
0 0 O

>> all(a,2)
ans =
0
0
1
e ,laso 3l se0 e (s N A SSiw) Vgiw b bw S als ples aS (sijgo > all(a,n) seiws
l3,S (soy |y s00 Wigo Gl e 3 9

394 s Joe b aisS azl aile dguin agsie N axlis pd jgiws ol >

>> any(a,2)
ans =

1

1

1

5,8 o | o0

>> isempty(a)
ans =
0
13,3 (s 0 [ 1 ,lase bl i puile cb sl aS (sije0 5> &L o

>> b=[9 3 0 8];

>> ijsmember(b,a)

ans =

0O 1 1 O

53 9 b Hlade il 56 a gac (il sac &l wilgi (sw aS) b puwyile Slacl aS (sieo 55 sgws ol
3,8 (sop |y s00 Hlado wpgo ol e

>> unique(a)

ans =

WN PO
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4
13,3 (o [y 1l 00 e (S3920 iyl @ aS @ S8 e solic Joli csigiw s 2l @il ol 9

1S, bl S ol ,d 50,

Oiogo A 55 5 .5l S)lol Sa,S Lsls plxil 9 W osls Sy, WSS LIS Sk gl Wlhgiws MATLAB
39 wswo o,Ll Lol

>> a=fix(20*rand(3,4))
a=
19 9 9 8
4 17 0 12
12 15 16 15

Cews 4 |y Vgiw 1 oSl 5 pouins iy U A Cewl 5 Heiws 2 Oligiws s Sl S
2D s plil Hlaw S, LI Gl il SHbaw Hlss dy punsile aS (sijg0 55 gl (s
>> min(a)
ans =
4 9 0 8

>> [s,t]=max(a)
S =

19 17 16 15
t=

1 2 3 3

VAL P95 (839, pudly (539,395 SOt jeiws Al AS ()90 ;3 IS (s aba>Me aS gb Uled
Sgr dlgs> poy;Sle b pwowius aily> UlSe 0aiuS

b b a pusibe sl b pauyile &b b aS_ 59, ,8 @ (Min L) max(a,b) wiso @ sgiws il aS (sigo 55
.bga U.U).S))J S a4y b cwl ugyile &b s>, OKJT_\_A_,w| SAc

>> b=fix(45*rand(3,4))
b=
41 18 18 15
33 42 40 36
7 41 2 0

>> max(a,b)

ans =
41 18 18 15
33 42 40 36
12 41 16 15

sl owd @ 1) Ugiw b shaaw 58 (sl sac 9 GSiko Vlgi (so Guizod

>> mean(b,2)

ans =
23.0000
37.7500
12.5000

>> median(b,2)
ans =
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18.0000
38.0000
4.5000

>> median(b,1)
ans =
33 41 18 15

55 9 .315,8 sy ) silo yuaic Ugiw b Lo U3,S oo 5l gy median gl aS auS wds S ol @
15,3 o | bwg giac 2 .Sk il 295 B Ugiw b W law slasi aS (sihg0

>> sum(b)
ans =
81 101 60 51
135S sy b Usiw b sl 58 ggoxo

>> cumsum(b)
ans =
41 18 18 15
74 60 58 51
81 101 60 51
213,38 w b ol 51 Jid sla aulys b aylys 5 g9z wsimy.cowl ol 5 loSw auline ol 5,Sloc

>> prod(b)
ans =
9471 30996 1440 0
05,8 s | Ugiw L8 S il Usalsols

>> cumprod(b)

ans =
41 18 18 15
1353 756 720 540
9471 30996 1440 0
Sl s 53 Olgi (s seiws ol 512153 (s b J8lo Sla alys s als o Cralels seiws ol

5,8 oslewl Ji)eiS16

UAS Lp> AS ()90 ,3.3,S padiw | (Vgiw b shw) wldec plxl > Ulgi (o wlhgiws 5>
9 wwo Joe b aisS VU s aS e giws 1505 disle dgiu

Twl 5y Jeiwd 39,5 wswo LS @4 Luyile 9> aluylas -.5|)JClSu|)9uwb)|)§J>g_s\SJ

>> jsequal(a,b)
ans =
0
15,8 csoy b ey Hlaie aiwl by pasile 95 @S (sj9.0 >

1Sl ado> > wl o Ulgic U guyilo
owl Sl doz>aiz &y by Ulgie @ il 5l oslaiwl B Guyile Slas,u,8 51,0 ol

>> x=[2 3 6 10];
>>y=[12 3 4],
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b b ool )00 b Ll wsls bloyl oshy s> o 9 awls S)lol osls wSslagi S w29
Nng d osls X,y =il ,5.085 ww plxl polyfit(x,y,n) adewy a4 9 i, o |, LS ol MATALAB .auS
owl pagyile &b U ool aseis.cowl s 5590 Sl Aoz ax)s 00uS pask e

>> p=polyfit(x,y,3)
p:
0.0193 -0.3795 2.5298 -2.6964

>> polyval(p,X)
ans =
1.0000 2.0000 3.0000 4.0000

w;q;m:lgal;mxﬂhgsblmI)uT)plﬁ.omlpwgm)bgslqlaz.uz:l;wUb)sdtg
LS o oslaiuwl polyval .G 5158 Gul «Shu.eusl

>> r=roots(p)

r=
9.1557 + 4.8026i
9.1557 - 4.8026i
1.3040

ol 538,85 )y sl ez oy cubo Vlgic @ [ b pusile Olgi o A awsS as b Uled
Al oo wows a4 Vb Gingy @ ol sle auing, 3wl Sl alezsiz culrs Jolw Ll &y puSl w)so

>> p2=poly(r)
p2 =
1.0000 -19.6154 130.7692 -139.3846

Ol o 3wlgi s Sl oz ol Sl ain, Giubls b wsus.duil (s ro0ts,gicws gwsSe Hgiws ol
JJ)SI Cawd |)

i) Y 55 8w 2.5, puandi pd 51 b o pd 53 b Sl alozaiz 2 3L a8 (ol wliwlxo )
285 o ol |, S ol

>> pl=[2 0 3 -1];
>> p2=[2 4];

>> conv(pl,p2)
ans =
4 8 6 10 -4

>> deconv(pl,p2)
ans =
1.0000 -2.0000 5.5000

2 0l pasile 93 adlail e 1 puyile (80585 9 e 3S3lw @ 50 B Sl aleiix 8,45 5 ga
Aol

>>p3=[3201];
>> pl + p3
ans =

5 2 3 0
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1acgoxo Ulgic 4 yawilo
Al (o acgaxo ey Vlgic a4y Ll 38,3 Hhy 55 b pausile 03,wS S8 5l LS &y

>> a=randperm(8)

a:

4 3 2 6 8 1 5 7
>> ph=2:2:8
b=

2 4 6 8

>> union(a,b)
ans =
1 2 3 4 5 6 7 8

>> intersect(b,a)
ans =
2 4 6 8

9l o Cows @ |, acgezo 95 il 9> Hgiws g & loix! Jgl jeiws

>> setxor(a,b)
ans =
1 3 5 7

(Ul Jolas). dhiwl spio £loix! ;505 w,le au.b )5 bhad b asiows a ) had | aS (sylacl
>> setdiff(a,b)
ans =
1 3 5 7
Aiiww by as a5l wsulacl

>> setdiff(b,a)
ans =
Empty matrix: 1-by-0
Aiiww @, asS bl wulacl

toan i bo O low bxo

LS (0 Aowlxo |y @ guyilo 03lgilyi 9 Ulinoyis (pweSo Caiyi @ 505 5>

>>a=[23-4;0-42;1-15]
a=

2 3 -4

0o -4 2

1 -1 5

>> inv(a)
ans =
0.3913 0.2391 0.2174
-0.0435 -0.3043 0.0870
-0.0870 -0.1087 0.1739

>> det(a)
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-46

>> g’

ans =
2 0 1
3 4 -1
-4 2 5

1D ai0 9 B L Gy

wwo o,Lul l.yi a5 55 aS s)s s9>90 S LB g W jusio 5l 8 \_s\.&@i Sly eiws xs MATLAB
.39

>> what
M-files in the current directory F:\MATLAB6_5\work

bub_dew cumprod2  exm mostafa prod2 size2 sum?2
calculate cumsum2 moadel name seri star

Wilod 2ilgi (o Sy9S 0I5 Huasi Shuads (s Uiwles | Sl )9S uls 55 39>90 Sl M-file &)Ul
VY oslaiwl cd PLVEVIAL )'| dos J.DLCM

>> who
Your variables are:
a ans b p p2 posr sor X y

>> whos

Name Size Bytes Class

a 3x3 72 double array
ans 1x5 40 double array
b 1x4 32 double array
p 1x4 32 double array
p2 1x4 32 double array
pos 3x4 96 double array
r 3x1 48 double array (complex)
sor 3x4 96 double array
X 1x4 32 double array
y 1x4 32 double array

Grand total is 61 elements using 512 bytes

Ulssiol | Hgiws oul.cowl whygiws s)ls \_suo)g)_w L yiwaw aS MATLAB LIl wlhgiows 5l Sy

>> why
Some hamster insisted on it.

www.irche.com

Iranian Chemical Engineers Website
Mostafa Saghari
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i ool s 15900 oo, W bysyo &ilgi MATLAB gilgi ;305 aiws
.ol ol Jol ag 5B b cod ¢ Jglas 5l sl wla aS assows soleMbl Jlssl au 518 a)lsges
ol 583,08 bl @ awdlpusls polais] lsges pow) 2 beise @iloi (s9y20 @ |y Gz ool Juds o
el b Solages ili 5505 UK gilsi ool wslivwr puiS (o (89520 | Saws 2 Slalsges @ilss Lo il

: plot U

» b oesh s alyl 5l Sl acgozo gl (ul. 2l oo U il Sae 2 Slalsges pow, U )y Jglaie
S s Jeaio od A pusiawe belas U | oani uasi blas g 05,5 oow, wlaixe S, =0 (Sq,

>> x = 0:0.2:2*pi;
>>y = sin(x);
>> plot(x,y)

295 UlogS)l 9 sl jox0 Jgl UlogS,l &1 ,5). 05w s | (Sxgoc jox0 Y 9 8l 9=o X Vb Jbio 55
Sd 90 0311 pupw S 5w 5L |, figure (sSLOLS o,y plot L. (LS s pasite |, Ssgac jexo
wwo Jaio ;53S0 a4 cowly bobs U | Ll bl ouw, 5l 320,058 o pubiis d osls (gilbo |, wlaixo

S v oadlae | figure o,y 9 YU wlhginws azewis 55 55 . AS

J Figure No. 1
File Edit Yiew Insert Tools ‘Window Help

DedE A A/ 2P0

aiis, 2 l o Y 9 X5l pay @S OlogS)l oul-ss 8 D ) oG OlogS,l ohod a4y Ulgs s |, plot &)
Joa> 315355 ir U ol Jalis @iy ol Ay woo gal S 5 bk £93 01535 paserin S \canel 15,355

ol >
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b blue . point - solid

g green o circle : dotted
r red X x-mark - dashdot
C cyan + plus -- dashed
m  magenta *  star

y yellow square

k  black diamond

S

d

v triangle (down)
7 triangle (up)

< triangle (left)
> triangle (right)
h  hexagram

p pentagram

1S axgi 5 Jlo @

>> plot(x,y,'pg")

08

0.6

0.4} .

0.2

o
s
T
1

.IE
o
T
1

L bs g9 Ugiw uogw 9 blas pgs. \S.J)(u.>)|) Jol Ugiw. 5940 (w0 ouwdi Ugiw 9w A 999 Joa>
_)lObwl)bxswg_wwp.@q)b@wuam|).b.>&_9JQSL_S\DlSL®lJJ.ASg_S\DUQM
osl> Giylos wsullas plew wigo wul sue 5> auS wlxal | ,3S,S & s @, a5l Jeas il Slayus S

owl 43858 3 Sy xSl s 590 A, Wygo ol gl s

>> plot(x,y,":-")
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??? Error using === plot
Error in color/linetype argument.

g Lol iy Wil b b3S Olssiol 1 580080 b Lol Sy 9 1a,58,S ol

9 (50 Judd Y > 50 X lag00 4 X

D 9 Wlonbi (D G

DD

L,L6 ol legend giws. ol aubo lgi (so o)y 2l (S, Lldeed iz oo W)go 5 5w Hldges Slousl,
D9 L 0315 Zui iy Ay Coawd > Hgiwd ul.ads o el

S s Wi |, Ll grid offg 1S sw Jled ,lsg00 S, |, Sl aSuuiws bghs grid on giws

LS s oslaiiwl text U 5l euds 51,8 15900 Sg, |y wsiio pudlgz S|

S ww b |, command window o,y 5 cle.asS ww Jb | figure o= clf

S s oadlawe | whgivws ol 5l eslaiwl Giug,) 5u; Jbio 5> JI>

>> clf

>> plot (x,y,"-.")

>> xlabel (' variable ")

>=> ylabel (' y variable ")

>> title (" MATLAB ')

>> |egend (" sin )

>> grid

>> text (3,.5," Mim Shimi 82 ")

MATLAB
1 !, = 1 T T T
i 6 i i i — - sin
L £ S
£ Loy : ! ! !
T T S .
‘ i i fdirn Shirnig2 ' i
Y e s
/ E ! y E E E
P A A S R A S
= : . b : : :
% Of--------- D e LS r'l’t: ----- IR e [PEESESEo =
= : . i : . Do
R e e o occcceces oot oo -
s s o L
I A [ A R N
e e R S
4 S R SN U WO VA
| | | 5 AN
1 I | I [ I
0 1 2 3 4 5 5 7
variahle
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> 9 ywsols |, Ol soil gy 1B aSuw aS (sijgo ,3¢ 39, L8 @ (sulpss @ as g0 > grid Heiws
S W g, |) vl Udg) u.ugol> )90

aS sijy90 d.cowl LB 590 o p9aw Ulogi)ig ool wlaizo 09> 9 Jol ULogi)i text ,ow> >
Sy, weblaio bghs jgiws cul Ll b L owS oaaiwl gtext jgiws 5l pwlys wsw ol | e wlaizeo
39 (w0 Gusti pwgle S U b 5,90 UKo g 59 (s 0315 Giwlos axan

twl 5B 3590 Gie TEXT aS caowl JSoi il @0 jiws il IS >

gtext ( ‘TEXT")

wwo oslaiwl $uS,S sl ana, 5l Bed whgiws plei 53 Luysi ud90,9 sadliw aS ,gb Uled

Jio) 0399 Sl us,S Jolb suld o Ulgw U s)ls sibKol (sJgoso S aii, » 0gMe MATLAB .59
5,8 adlol ,lsgos @ |l Guwasl 9 5l Ulgs wl)lie Guizod o> s ;59 (F 00

5,8 adlol o
Character Symbol  Character Symbol | Character Symbol
Sequence Sequence Sequence
\ al pha o \upsilon L \sim ~
\ beta B \ phi é \leq <
\ ganma Y \ chi % \infty ot
\delta 5 \ psi Y \cl ubsuit &
\epsil on £ \ onega ® \ di anondsui t *
\zeta ' \ Ganma I \ heartsuit v
\eta n \Delta A \ spadesui t A
\theta 0 \ Thet a e \leftrightarrow | .,
\vartheta 9 \ Lanmbda A \leftarrow —
\iota 1 \ Xi = \ upar r ow 1
\ kappa K \ Pi I \rightarrow —
\ I anbda A \' Si gma T \ downar r ow l
\ nmu H \ Upsi | on Y \circ o
\ nu v \ Phi @ \ pm +
\ Xi E \ Psi W \ geq >
\ pi P \ Orega 0 \propto ot
\rho p \forall v \parti al
\'si gma a \exists 3 \ bul I et .
\var si gma G \ ni 3 \div -

ramin.samad@yahoo.com


WWW.IRANMEET.COM
https://telegram.me/karnil
www.karnil.com

\tau T \ cong =~ \ neq +
\equi v = \ appr ox = \ al eph N
\Im S \ Re 9t \ wp ]
\otines ® \opl us @ \ osl ash &
\cap A \cup U \ supset eq =
\ supset - \ subset eq = \ subset -
\int | \in e \o o
\rfloor | \lceil \ nabl a ¥
\Ifloor L \cdot : \ldots

\perp ] \neg - \prime ’
\wedge A \times X \0 &
\rceil 1 \surd N \mid |
\vee v \varpi o \copyright ©
\langle { \rangle )

DS oslaiwl o5 whgo 4 Sl aa, Sla alll 5l asles e b e S e sl Sl
text ( {'LINEL’, ‘LINE2' })

wile aS (8690 3.5 (s oslaiwl W, le sl ey Vlgi coMe 5l w,le ey (Sey  Ulgs Lsls HLS sy
Sh ol sl by g puds (0 Lb3 {3 o5 o b ol il L3S, & 5l Giuw 3,8 (sw L3 Llgi s @S
LS o oslaiiwl ' S ,S

35S pasdw 3 |y i 03l Ulgs Lsw \fontsize jgiws ;| osleiwl b su>

393> U3)S pasiiwe b axis jeiws il ppo o Sy slsges 5l cssond Ginles i cowl (Sow Guizod
asS Hly ey Jolits Heiws (53959 VeS| Juis 0 505 5> &S Jeb Vlod.ad> s plxil 1) LS ol dj9=0
il o wowl )g=o 90> 01LS Laswiw

axis ( [XMIN XMAX YMIN YMAX] )
Aueis oo Lol susl wlhgiows 5l oslaswl Gugy b 5y Jlio >

>> axis ([2 10 3 8])

>> xlabel ('LABEL_x")

>> ylabel ('LABEL_y")

>> title ({'First line','Second line'})

>> text (6,6.5,"\fontsize{34} \heartsuit")

>> gtext ({"\fontsize{30} (a \pm b)"2','=a”2 \pm 2ab + b"2'})
>> text (4,4,\fontsize{14}sin(\alpha)”™{2\pi}")

ramin.samad@yahoo.com


WWW.IRANMEET.COM
https://telegram.me/karnil
www.karnil.com

First line
g second line

.
m
T

-
m
T

(@atb)2
i =a2 + 2ab + b2

5 -
45}
41 - an
sin{o)
35}
3 | | | | | | | |
2 3 4 5 B 7 8 9 10

LABEL,

ensert Sgio (3,b 5l 9 command o,z 5> b U i o3> zuog VU )y aS wilhgiows Sl oS)boww

ol U 2lgi (s i s YU whigiows 18,8 sb a4 s lasl Sl asiwd csowsiows B figure o=y

AwS Joc b

€397 0l Sy pwwdi wsdas g0 4 Lpil wlaiko Sa,e=0 aS 05,5 pow b wuld,lsees J> ay b
S Gl Shy pads iwglos (i 8 Wloss b | jox0 95 58 b el aS el o3V @3lgo 5l (s> 55 o
Syl 59>9 il ygiws w

&b 5l 9 oxd S puwidi i, lade cowsy Ul X j9xe aS S,lsges Sl semilogx &bl

aS AS (50 o S)l3900 10g10g @16 iz 3uiS oslaiwl (soip B Y s9xo0 b S)lages Sl semilogy
il plot &b ailo gilgi ul 39,9 S WlogS )l .l (swoin, B Ul jo=0 95 ;8
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Ao Sd,)l>e.00

Olojod |y ,lse0i dix pudlezy aS 5,1 ol g puizgol Hlsgoi pow) Shy wegiio whgiws iyl b
1> 55900 9 590w Jb A Hlvges puw; U figure o=y aS il L asgi b aswles ¢l 9 pudles
ot yudy VSl (sdgome Gug) @ deb (s (b8 Sl

PaiS s Ol L8 wal shu |y Giugy i 45 5

sl g, «
Slsges 9 ails q/ﬁ.u [, figure o=y wlhgixo jgiws (pl.59d sw oslaiwl hold jgiws 51 Gugy ol )

>> x=linspace(0,10);

>> y=sin(x);z=tan(x);s=cos(x);t=x."2;
>> hold on

>> plot(x,y)

>> plot(x,s)

>> title("Hold on")

>> hold off

Hold an

. . P> gy «
OlogS,l wia>e Jgl UlogS)l s> Sl sy Vlgi (s RIL ol L3390 (s oslaiwl plot U S5l Gvg, ol o>
slociny ilgi o &L ol i ol 5,8 Sl Sasy Sla VlegS)l Llsic @ |, Sa=s Hlees @ by

2> pll 1 L Gl OlogS)l we> 5o 5l a3l oS paxie | ... 9 b £9i pudlysy aS (sij9.0 5>

>> plot (X,Y,X,S,X,c08(2*x),'sk")
>> legend('sin(x)','cos(x)",'cos(2x)")
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P9 gy «
w0 Py W15 (siglaie Sak pusudi aS 39> A paie Y j=e 9 yikie X jexo U ldees 95 yug, o0l b3
i ol S (o oo ) Dlsges 95 LS &IU Gl 3S (s plil plotyy iU bwgs LIS Gl ag

B VS VU INE VISV IR |) ol gj\.ls el ol S>9)9 ULogg)i > 9> L§|)|>

plotyy(x1,y1,x2,y2," funl' ' fun2"

5 eeSy Llgi w9 il w095 9 Jgl Hlgos Sk wlaizo S ,9=0 £95 01LS Loz ):>i L'JL09§)T 9>
ool 55 5)le0
semilogx, semilogy, plot, loglog, stem

10,5 0,Ll 51 Wb LIS Gl ShussS Lasis | . o bghs g5 plot &b Sl @y Olgi wsas &b ol 5o
oS oo waelid Jlo el au L Gz cul sS5,5uwS Juds @ .55S eslaiwl L3505 Se Givg, U

Pl g, «
s95ews 5l lsees oo, U a5 8 aS Busb ol wsgi s osleiwl sasio S o=y Sl gy o0l >
Ol 5l o,y ezl Sy aS cowl o,z o)lots 01uS Lauio N aS WS ww oslawl figure(n)

S s oo 0,50y ol > ) Sldges 9 05,5 50 | Sauas figure o,y jeiws ul.dgui o oslasiwl
A0S oadline | Ol azis 9 S b b ,u whgiws

>> figure(1)

>> x=linspace(0,10);
>> y=sin(x);s=cos(x);
>> plot(x,y)

>> figure(2)

>> plot(x,s)
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) ) Py gy «
S o powy B oawd Gul 51 sSu Lo L Hlbees 1 9 05,5 puudi Caowwd i @ | o,y Uivg) ol
owl 5 Oyge W g ul IS s sg i sw el subplot jgiws bwgi puuds ol

subplot (m,n,p) or subplot(mnp)

0)loni. 1S s Wil 1) Of s uol P g 35S (s ouudi MXN Guyilo &l @y |, figure 0,2y Hgiws ¢l
VRV IUWE BTV ITSRUN W VICTICASV-Y

>> subplot (2,1,1)
>> plotyy (X,y,X,S)
>> subplot (2,1,2)
>> plot (x,atan(x))

15 T T T T T T T I

P . . Pl g «
390 &L 505 sw L1 (sl lsees Sg, wolaie wbidie 9 WA Wiexe L wax Llsges Gug, o0l >
rowl 505 wyso @ Ul WIS Wl ol ww axes iU g, 5> osleiwl

axes (' position' , [left, bottom, width, height])

-ilg Sazy OlogS,l 9 Vb wigo 4 5,858 @iy &y Jol LlogS,lt ol (5399 LlogS)l 95 (Sl> Hgiws il
Ul o513l 00uS Laziio Saw yaic 95 9 LA gl Ul oS Lasiw ,la,u Jgl jaice 95 Lenwl Sls
b s wwl) wonw VU Cl_uugg Sy ) (141) 9 v wonw b Cl_wgg Sy [ (0:0) wlaizo jeiws ol
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2wogi iy ol 3 a8 cowl wsibgiows pled 035,58 55 Luysi aS cowl M-file &b 5l Sl aigos 505 Jlo
5o @ bgiyo j9iws AuS w 9 A4S W8> 5,5 Jloel a,lyg0i (Sg,y Ulgi wswo aS silowdhis au.auw o3l
AS g 1

x=1:.1:10;

y=-10*sinh(x);

z=-cos(x/2);

[AX,H1,H2]=plotyy (X,y,X,z,'loglog’,'semilogx")
set(get(AX(1),"Ylabel’),'String',"\theta_1 Log plot");
set(get(AX(2),"Ylabel'),'String',"\theta_2 Linear plot’);
set(get(AX(2),'Xlabel),'String','logarithmic plot’);
set(H1,'Linewidth',4);
set(H2,'LineStyle','--','LineWidth',2);

axes(‘Position’,[.34 .2 .35 .35]);

x1=linspace(1,10,24);

y1=sin(x1);

f=plot(x1,y1,'p");

axis([1 10 -1.5 1.5]);
set(f,'MarkerSize',12,'LineWidth',2);

ylabel(\lambda”™0'");

title('graphic example');

set(gca,'XTick',[1 2 4 5 8 10],'YTick',[-1.5 -.75 0 .5 1.5]);
grid on;

0.8

= =
= fag!

=
[

8, Linear plaot

8, Log plat

logarithmic plot
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owl wlasio W Ul ,ol)S e 9 cawl &yiino csaungi a0l Sla ol wdel s wlhgiws

:function file w>Lw

ol cowl S g 4590 0aui e MATLAB Sl M8 aS 005, wsw oslaiwl wwilgs 5l Lo JIs a4 b
Paaggis o> S, b sailgi pudlos b caids gowly | o oslaslo aiilei gilss

twl 55 wygo @ Ul Jol s aS wyles ol b caowl M-file &y aulo (function file) gL <l
function [outputs]= name(inputs)

waxiiw | 1 =g, 9 @ (Sdg 9 dlaes Huized .cwl gL &y M-file ul aS 1S o paziw b ol
() acwsls @ oS3k ool aiils S39,9 2l i aS ()90 13,085 w0 L1 susio &y o> ) ey B g 05,8
S sw pasiw | &6 oL 50 name o

w>9>> 9 W 3909 Wb whlic wul.puS oslaiwl (smogi whlic 5l @l Vaw Liblgs Shy cowl i
U bolas ol 5,5 pazine 5w |, Ol picdg &)U 9 pwgs @l pU Olgi (o Guizod. 1S paiw |,
Al oy uwles @ >>help name jgiow> >l

S s Sslw aunw | prod jgiaws o5 M-file Jbo Olgic a,

function p=prodY (x)

% function p=PRODY (x)

% shabih sazi farman PROD

% a:radif b:sotoon

[a,b]=sizeY(X);

P, 1)=x(1,);

for i=Y:a,

% satr aval p dar satr haye x zarb shode
% va dar satr aval p zakhir mishavad

p(Y,)=p(),:).*x(i,3);

end
% if x is rowvector
while a==);
p=);
for i=\:b,
pP=p*X(i);
end
a=-+;
end

DL S aal>
0505 3629 € Logad A sauwgs Aol Ska ul; el s wlhgiws ol

For asl> «

HLS5 00uw e Jud 5l wleds slass @ whhgiiws 5l Salasi aS 390 wsw 3929 @ |, Ul ¢l asl> ¢l

roowl 55 whgo a4 Ul WIS Sl g
for variable = a
statement \
statement Y

end
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iy ol 4.5,.8 s L8 variable 5> a guuyile Ugiw &b asl> LSE LU L8 Hs.cowl guuyile &b a as
g oo LS a Sl vgiw Sl @ asl>
U0 dg.\.?_gﬁ)b_gii kSLQ CLO.L>)| osleswl L.’):!J Jlo .>_,S o:Lé.Lwng)ng O)Hg0 U U|9J S\o |)Cl.a.l.>u.u|

S s sl
fori=\:o
for j=1:0
s(i.j)=1"J;
end
end
While asl> «

5910 s 03laiwl sol&id Heiwd ol 5l .S s HLST d9a=0l Wlkds slagi @ | Heiws > aals> ol
w55 Whgo U eiwd el IS Sl ol pasine LS5 wleds slasi as

while expression
statements
end

oy whle) 59 (s LS asls> Ll Cow)s a8 wwlEid U g cowl by w,lie &l expression
(590 s 031> Zui A=y ouwd >

1Sl akul, S ,Sloc
il s 5 3lee Jolis )Slec ol

T Sl aal, Sle,Slac
Sl xiS=eS <

Soluwo b ,iS=gS <=
258,550 >
Soluwo U 58,5 >=
L kSgLA.u.o ==
(Soluwol) L o ~=

rvihuo S Sloc

oS sw 0adlino 55 Joa> 5 | b ,Slec ol

AND &
OR |
NOT ~
ooy laie (Y b X) oSy L @S osije0 53) (Sy)laxil OR xor(x,y)
(3515, s True Hlaso aowl awls

1 paoudd S, LsLw
i If - Else — End b uw «
20D |) B VEWAY UJ' @lS JS_.».»I 0w Luwl _S._}_) WYY Cbob)._: Ska L')L_J)' > H,9wd U.J| b)SJ.A.C L loi>
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if expression \
statements )

elseif expression Y
statements Y

elseif expression n
statements n
else
statements
end

oslaiwl End g Else &l g Elseif jlociny: If &by 5l Ulgi oo S s 55 auS s 0adliwe aS b uled
owl sl Elseif g Else 5l oslaiwl.s,S

Flio) ¥ bk wigo ol af 55 (g o Ll ) olocs wlhigiws il cowys I Llaos byw S|
w0 o ¥ bd Oeo Gul saf 539 T owlhgiiws Lol wow)d aS (sdjgo > el o wsaw s (Elseif
560w Iyl Else cocwd wlygiws 5945 Cow)d 9 i ey by N aS (8390 )y L.l S

Switch-Case b i «
seb g s oslaiwl whlie ol wlio Huslie wlwl » ABis S,S puoai Sy Hlislw il 5l
g wswo 05 laswl Hgiws ol 5l Al aals s9>9 Lkl Y5l Giuw aS e S,8 puouai plod 5> IS

3o pulwl 5o adlss (oo 9 1S oo Ll L T (T ) Loslie X Jie (Siusio 1S 40,9 Jlie Ulgic @
Slg ¥ whgiws 395 ¥ ubu S ) whgiows 395 Y by 3Lawds plail | (silizo S8 puonai X walizo
[,>| (otherwise) & wlygiws 3905 & il 5l plaS zud aS ()50 )5 9 Vg Ll ¥ Olhgiws 3¢ ¥ ol

1S ww oadlie | jeiws il IS Wl gl

switch switch_expr

case case_expr,
statement, ..., statement

case {case_expr\, case_exprY, case_expry,...}
statement, ..., statement

otherwise,
statement, ..., statement
end

15,5 wds ub a0 ol Ly ST i @

J,iuS W Case jlw 9 300 s Jsiio End 5l oy @y aoliyy Ll 269, wlhhginws 5l &by 58 sShal 5l gy (O
2ol by () awsls Jobs wolie Y ol 50 U sk )90 w)lic aS (s6y90 55 p9s Case syg0 55 YU s (Y
gl ww bl wlgiows

owl S5l 50 Otherwise 1 oslaiwl (Y

:Try-Catch Jgl,

1l o wygo il 4 giws ol IS JSw

ramin.samad@yahoo.com


WWW.IRANMEET.COM
https://telegram.me/karnil
www.karnil.com

try
commands
catch
commands
end

A &, wullas aS (si,9.0 > fgab o Ll Try o5 wlhsiows aS cowl Wy Gul 4 jgiws ul 5,Slec
w0 el cuols ol 39 (o bl coawd ul )> d9>90 Whigiws 9 00 Jsiie Catch 4 aoly JyusS
g oslasiowl B aoly wubilas sl ul 5l seui

10Uy Sl Mg, adgi

Break «
53.39, ww 3)l> ,18 For aal> 5l asy aS jgiws Gudgl @0 MATLAB 3.8 wswo Ll jgiws ¢l @S wollis
Y W]

Error «
l5,3 50 1 0855S,S aii, &y wlgi (s 9 0aui aoliy Ll wdgi dacl jgiws ol

error (* STATEMENT ")

Return «
Uiwles Command window ,5) 15,5 s | S 5,90 Hlade dwyy H9iws ol @ a0l L=l g, o8 Lo
539 o w8dgio Aol Sl aslsl g {(ad> swo

4 590 ww oslaiwl ol JolS wasw, ubl @ 5l Ju8 M)Jbl&np&m 595 Uil Shy jeiws ol 5l
L, 5 5,00 Hlaéo 9 59 s wW@dgio s Aol ShL>l dg, dol cows a4 by 5,90 Clg> 08,8 iy ol
.J.J|>)§ S\O_J
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